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QUESTION 1

One reason to replace an unmanaged switch with a managed switch is to: 

A. Manage the routing tables. 

B. Support multiple VLANS. 

C. Reduce collision domains. 

D. Route between networks, 

Correct Answer: B 

A multilayer switch (MLS) is a computer networking device that switches on OSI layer 2 like an ordinary network switch
and provides extra functions on higher OSI layers. 

The major difference between the packet switching operation of a router and that of a Layer 3 switch is the physical
implementation. In general-purpose routers, packet switching takes place using software that runs on a microprocessor,
whereas a Layer 3 switch performs this using dedicated application-specific integrated circuit (ASIC) hardware. 

 

QUESTION 2

A cable that meets the l000BaseT standard has a maximum length of: 

A. 100 m 

B. 250 m 

C. 500 m 

D. 1,000 m 

Correct Answer: A 

When used for 10/100/1000BASE-T, the maximum allowed length of a Cat 6 cable is 100 meters or 328 feet. 

 

QUESTION 3

For each of the following statements, select Yes if the statement is true. Otherwise, select No. 

Each correct selection is worth one point. 

Hot Area: 
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Correct Answer: 

 

 

QUESTION 4

Match the VPN connection type to the corresponding definition. 

To answer, drag the appropriate VPN term from the column on the left to its definition on the right. Each term may be
used once, more than once, or not at all. Each correct match is worth one point. 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 5

What is the DNS record type that specifies an alias name of another address record? 

A. MX 

B. CNAME 
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C. NS 

D. SOA 

Correct Answer: B 

CNAME stands for Canonical Name. CNAME records can be used to alias one name to another. 
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